1T6r6p Series:[ 3. 5. 17. 7. 13.], erreur Mk 0 = 300.5017493561T6r6p Series: [ 3. 5. 17. 7. 16.], erreur Mk 1 = 334.172639869
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Temp Series : [ 3. 5. 17. 7. 11.], erreur Mk 2 = 341.154002162_Temp Series: [ 3. 5. 17. 7. 1.], erreur Mk 3 = 349.133598794
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Temp Series : [ 3. 5. 17. 7. 9.], erreur Mk 4 = 350.8821866 _Temp Series:[ 3. 5. 17. 7. 19.], erreur Mk 5 = 351.361662058
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Temp Series: [ 3. 5. 17. 7. 8.1, erreur Mk 6 = 355.188811152 1T6r6p Series:[ 3. 5. 17. 7. 14.], erreur Mk 7 = 357.219230422
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Temp Series: [ 3. 5. 17. 7. 4.], erreur Mk 8 = 376.780594308 _ Temp Series : [ 3. 5. 17. 7. 15.], erreur Mk 9 = 376.99904834
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